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Note : This paper is of forty (40) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

[k.Mksa ^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks 

bu [k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa 

ds mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‘A’ contains four (04) long answer type 

questions of nine and half (9 1
2

) marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<s+ ukS ¼9 1
2
½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you mean by Cell Organelles ? Describe 

mitochondria with well labelled diagram.  

dksf’kdkax ls vki D;k le>rs gSa \ ekbVksdkWf.Mª;k dh 

js[kkfp= cukdj O;k[;k dhft,A  

2. Write notes on any two of the following : 

(i) Types of RNA 

(ii) Operon model  

(iii) Genetic code 

fuEUkfyf[kr esa ls fdUgha nks ij fVIif.k;k¡ fyf[k, % 

(i) vkj- ,u- ,- ds izdkj 

(ii) vksisjkWu ekWMy 

(iii) vkuqoaf’kd dwV 

3. What do you understand by mutation breeding ? 

Describe the various kinds of mutagens used in plant 

breeding.  

mRifjorhZ iztuu ls D;k vfHkizk; gS \ ikni iztuu foKku 

esa iz;qDr gksus okys fofHkUu izdkj ds mRifjorZtuksa dk o.kZu 

dhft,A  

4. What is cell cycle ? Describe the changes that occur in 

the cell during mitotic interphase.  

dksf’kdk pØ D;k gS \ lelw=h foHkktu dh vURk%voLFkk esa 

dksf’kdk esa gksus okys ifjorZuksa dk o.kZu dhft,A  
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‘B’ contains eight (08) short answer type 

questions of four (04) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, pkj ¼04½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. What do you understand by transposons ?  

VªkUlikstksu ls vki D;k le>rs gSa \ 

2. Describe the Watson-Crick model of DNA.  

Mh- ,u- ,- ds okVlu&fØd ekWMy dk fooj.k nhft,A  

3. What is gene interaction ?  

thu var%fØ;k,¡ D;k gSa \ 

4. What is Plasmid ? Explain.  

IykfTeM D;k gS \ le>kb,A  

5. What are the differences between mitosis and meiosis ?  

ekbVksfll ,oa fevkWfll esa D;k&D;k vUrj gSa \ 

6. Write the scientific basis of heterosis.  

ladj [kkst dk oSKkfud vk/kkj fyf[k,A  

7. What is hybridization ? Explain.  

ladj.k D;k gS \ le>kb,A  



 [ 4 ] BO–06 

B-18 

8. What do you understand by Polyploidy ?  

cgqxqf.krk ls vki D;k le>rs gSa \ 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‘C’ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

 vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft,A % 

1. Codon is a triplicate of ............... 

dksMksu 
-----------------

 dk f=;qXr gSA  

2. Crossing of 1F  hybrid with either of the parents is 

called ..............  

,Q&1 ih<+h dk fdlh Hkh tud ls ladj.k 
--------------------

 dgykrk 

gSA  

3. The father of green revolution in India is .............. 

Hkkjr esa gfjr ØkfUr ds tud 
------------------

 gSaA 

4. National Botanical Research Institute is situated  

in ............. 

jk”Vªh; okuLifrd vuqla/kku laLFkku 
--------------

 esa vofLFkr gSA  
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5. Nucleosome is made up of ............. 

U;wfDy;kslkse 
--------------------

 dk cuk gksrk gSA  

Write True or False against the following. : 

fuEufyf[kr ds lkeus lR; vFkok vlR; fyf[k, %  

6. Longest phase during mitosis is metaphase.  

lelw=h foHkktu esa lcls yEch voLFkk e/;koLFkk gSA  

7. The phenotypic ratio of complementary gene is 9 : 7. 

iwjd thu dk ley{kf.kd vuqikr 9 % 7 gSA  

8. sD  element is a transposon.   

sD  ,yhesaV ,d VªkUlikstkWu gSA  

9. Protoplast is a plant cell without cell wall.  

thonzO;d ,d dksf’kdk fHkfŸk jfgr ikni dksf’kdk gSA  

10. Z-DNA is a right-handed helical structure.  

tsM&Mh- ,u- ,- ,d nf{k.kkorZ dq.Myh :i gSA  
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